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Part - l11
COMMERCE, Paper - 11
(English Version)
Time : 3 Hours Max. Marks : 100

PART -1
( Marks 50).

SECTION - A 2 X 10 = 20
Answer any two of the following questpns not exceeding 40 lines each.
1. What is stock exchange? Eq':pﬁi% its functions.

2. What do you undex&{gm%y e-Banking? Explain the various types of
2 N
e Banklng X

K
3. "What are&‘he Principles of Manﬂgement'?

| SECTION - B 4 XxX5=20
Answer any four of the following questions not exceeding 20 lines each.

4. What are the differences between Primary Market and Secondary
Market?

State the features of insurance.

o

Explain the functions of entrepreneurs.

a

What are the steps initiated by Telangana Government for i improving
the productivity and income of traditional arts and handicrafts of our
region?

List the advanﬁages of SEZs.
Explain the principles of Dlrec&\‘ng

o

Y&“%SECTION C 5x 2=10
Write short nutes neﬁx\h%y ﬁve of the fn]lnwmg not exceeding o lmes each.

- 10. Money, m:a.rket
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11, ""Types of warehouses

12. Adoptive or 1m1natwe emreprenﬂur

n"s.""u
13. Brnidge Loans E:)(,#

14. Exchange, @%
15. Bill g&bddlng

16. Certificate of Orlgm

17. Meaning of control

PART - 11
(Marks 50)
SECTION - D 1 X 20

Answer the following question.

18. X, Y and Z are the partners sharing profits and losses equally. Their Balance
Sheet as on 31t March, 2017 was as under :

Balance Sheet as on 31.03.2017

Liabilities : Amount Assets Amount

| Rs. Rs.
Creditors 22,000 | Cash " 20,000
Bills payable 20,000 | Debtors 30,000
General reserve alc 18,000 Furniture 35,000
Capital : - Machinery 40,000 .

X 40,000 Land 25,000

y | 30,000

zZ 20,000 . .
Total 1,50,000 Total 1,50,000

On the above date, Z retires from the business on the fullnw&lg
conditions : aﬁgﬁ

1)  Depreciation on Furniture 10%, Macﬁfweﬂ’&
i) Provide for bad debts 5% on defitbrR.

i) Goodwill of the firm valued at Hs, 30,000.

1v) Land revalued at Rs. 35,000. |

Give the necessary Ledger Accounts and new Balance Sheet.
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"SECTION - E 1% 10=10
Answer any one of the following questions.

19. On 1** January, 2017 Madhu of Hyderabad consigned goods value
Rs. 40,000 to Ramesh of Warangal. Madhu paid cartage Rs. 3,000. On
1-04-2017 Ramesh sent an account sales with the following information.

1) 1/2 of fhe goods sold for Rs. 30,000.
1) Ramesh incurred expenses Rs. 750. tﬁm |
i11) Ramesh is entitled to me\\wm}gsmn of 5% on sales.

Bank draft was enclquc}ﬂnﬁe balance due. Pass the necessary Ledger _
accounts in the books of Madhu.

20. From the following Receipts and Payments account of 'Srisudha Nﬂa}ram‘
. for the year ended 31-03-2017, prepare Income and Expenditure

Account,
Dr. Receipts and Payments Account | Cr.
Receipts Amount Payﬁents | Amount
Rs. Rs.
To Balance 30,000 | By Salaries - | 30,000
To Subscriptions By Entertainment expenses| 16,000
2015-16 2,000 | By General expenses 6,000
' 2016-17 40,000 | By Investments 20,000
2017-18 4,000 | By Printing | 14,000
To Entrance fee ' 20,800 .B}r Machinery | 6,000
To Sale of old furniture 1,200 | By Balance c/d 6,000
(Book value 2000) |
Total 98,000 | Total 98,000
Additional information : r
1) Outstanding salaries Rs ¥ IZII[:lE AUG A\ xaﬁ-f-’m“

1) Subscriptions nu\t‘@wﬁﬂg‘ or 2016-17 Rs. 10,000.

1i1) Deprecmtmn on Machinery by 10%.
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' SECTION - F 2 X5 =10

Answer any two of the fullomng questmns ’

21.

22,

23.

24.

Wnte the dﬁerenms hetwesen recemts and pa}rments account and income
and a:ﬁ:pendlture account.

Raju Traders purchased Machinery for Rs. 40,000 on 1** April, 2015.

On 30%h September, 2017 they sold the Machinery fér Rs. 14,000.

Depreciation is chafged ‘at 10% ori fixed inﬁfallmeht method. The firm

closes its'books at-the end of ﬁnmm; %eeﬁﬁmpm a Machinery aﬂcnumt
o\

Calculate the profit ea{{%bﬁﬁ%wa who keeps his booka under smgle

entry s}rstem \ENN 80 -
20,000

Capital as on Dl_—ﬂ4-*2{}16 Rs.
Fresh capital introduced - Rs. 35,000
Amount withdrawn for personal use.- Rs. 16,000
Capital as on 31~03-2017 Rs. 74,000
Explain any five advantages of the computerized accounting.
SECTION G X 2= 16

Answer any ﬁve of the fnl]uwmg questmns nut excee:dmg five lines.

25.
26.
217

28,

29.
30.

31.
32.

What is depletion?

What is statement of@@g\

What is pro %@!“invﬂme'?

Y\ \
Deﬁn tﬁﬁ’atmns

W’h&t is partnership deed?

~Ajay and Vijay are partners sharing profits and losses in the ratio

of 2 : 3. They admitted Sanjay by g‘tﬂng him 1/5%h share in the
profits. Calculate a new prnfit shanng ratio. ‘

What is Sage?
What is Marg?
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